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V4 
A Michelson interferometer is used to determine the wavelength of light from a Krypton 
laser. 

a) Draw a sketch of a Michelson interferometer that sends laser light to a screen and 
briefly explain how the interferometer works and the parts it consists of. (2 p) 

b) In a measurement, interference rings from the laser on a screen are studied. By turning 
a micrometer screw so that a part of the device moves 9.7 μm, one get 30 interference 
rings to pass past the same point on the screen. What is the wavelength of the laser 
light? (2 p) 
 

V5 
Light from a HeNe laser with a wavelength of 632.8 nm is sent on to a broad slit such that a 
diffraction pattern is formed on a screen 4.00 meters away from the slit.  

a) How wide is the slit if the center of the first dark band is 15.0 mm from the center of 
the bright central line. (2 p) 

b) What is the difference in phase angles of light rays coming from the top and the 
bottom of the slit at a point 10.0 mm from the middle of the bright central line ?  (2 p) 

c) If the light intensity is 1.83 mW/mm2 in this point, what is the maximum light 
intensity in the diffraction spectrum on the screen ? (2 p) 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 


